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HOSPITAL & HEALTH SYSTEM -1
( HISTORY & EVOLUTION )

Time Allotted : 3 Hours Full Marks : 70

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

GROUP - A
( Multiple Choice Type Questions )

1. Choose the correct alternatives for any ten of the
following : 10x1=10

i) National Health Policy aims to achieve zero level growth
of HIV/AIDS by

a) 2006 b) 2007
c) 2008 d) none of these.

ii)  Global strategy for Health for All was evolved by WHO in

the year

a) 1977
b) 1978
c) 2000
d) 1981.
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iii)

iv)

V)

vi)

vii)

health worker for every
a) 10,000 population
b) 12,000 population
c) 9,000 population
d) none of these.

The word ‘Hospital’ originates from the word

a) Hospice b) Hospitale

c) Hostile d) none of these.

The indicator which will not come under PQLI ( Physical
Quality of Life Index ) is

a) infant mortality

b) life expectancy at age one

c) literacy

d) GNP.

HALE is

a) Health Adjusted Life Expectancy
b) Human Adjusted Life Expectancy
c) Hospital Adjusted Life Expectancy
d) None of these.

Who is known as “The Father of Medicine” ?
a) Hammurabi

b) Hippocrates

c¢) Johanna Peter Frank

d) Fracastorius.
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viii) MMR is usually expressed as a rate per

ix)

X)

xi)
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a) 1,000 live births - e A
b) 10,000 live births

c) 1,00,000 live births

d) none of these.

Who demonstrated that malaria was transmitted by the

Anopheles ?

a) R.Ross

b) James Lind
c) Louis Pasteur
d) Koch.

Sub-centeres are built at the rate of 1 for every

.................... population in Tribal & Hilly areas.
a) 5000 b) 4000
c) 3000 d) 1000.

Which one of the following is not Health care delivery

indicator ?

a) Doctor-population ratio
b) Doctor-nurse ratio

c¢) Population-bed ratio

d) Dependency ratio.
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GROUP - B v

( Short Answer Type Questions-)f--‘- —

Write short notes on any three of the follov(ring.

3x5=15
Holistic approach to Health.
Health gap.
Germ theory of disease.
Spectrum of health.
GROUP - C
(Long Answer Type Questions )
Answer any three of the following. 3 x 15 =45

Mention the historical development of hospitals in India.

a) Differentiate between dimensions of health and

indicators of health.

b) At which extreme health is considered as positive

health ?

c) Draw the delivery model of comprehensive health care

system in India. 5+3+7
Briefly discuss about the role of hospitals in India.

Briefly explain health outlay during 1951-2003.




